
N a m e KEY
Math 268, Quiz#4, Spring 2012

Instructions:Show allwork. Calculators should be used to check, not to perform work. Justi fyyour
answers.

t.  Consider the set of polynomiats {1,r +f 3 -t2 +2t3 ,-4t -f  
\ .  Does this set form a basis of P3?

In other words, does the set span P3 and is the set l inearly independent? Does it  satisfy the
definit ion of a subspace? [Hint: treat the coeff icients of each term as entries in the 4x]. vector. l
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z. Find the kerneland the column space of the matr ix O=l!  " t  ? i  : l
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